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61. What will be the feminine gender of 'wizard'?
(1) Witch (2) Lizard
(3) Fairy (4) Ghost

Explanation : (1) Witch
» The feminine gender of 'wizard is witch. Witch
means a women thought to have magical powers,
especially evil ones, popularly depicted as
wearing a black cloak and pointed hat and flying
on a broom stick.

62. The masculine gender of 'vixen' is

(1) ox (2) fox (3) horse (4)
deer

Explanation : (2) Fox
» The masculine gender of 'vixen' is fox. Fox is a
carnivorous mammal of the dog family with a
pointed muzzle and bushy tail, proverbial for its
cunning.

(4) FTS H B —maﬁaﬁ}mw
FR-GR o' W S W R :
& =

W:(Qaﬁaﬁﬁﬁﬁaﬂ?maﬁ?mm%’m.
ﬁﬁw—aﬁ?ﬁmqﬁm‘maﬂﬁﬁm_ﬂ
et T @, 78 St e 2 f

Preventable : able to be prevented or avoideq.

Preventing :to  stop  something fy,
happening or someone from
doing something.

: designed to keep something
undesirable such as illness o
harm from occurring.

Preventive

65. Identify the phrasal verb in the following
sentence:

"Thieves broke into the bank in the middle
of the night".
(1) broke into
(3) thieves broke

(2) into the bank
(4) middle of the night

Explanation : (1) "Broke into"
» The phrasal verb "Broke into" means to enter or
open (a place, vehicle etc.) forcibly, especially for
the purposes of theft.

63. Which of the following sentences has the
correct punctuation marks?

(1) The minister said "elections will be held in
MP, Bihar and Orissa".

(2) The minister said, "Elections will be held in
MP, Bihar and Orissa".

(3) The minister said, elections will be held in
MP, Bihar and Orissa,

(4) The minister said "elections will be held i
: : in
MP, Bihar and Orissa".

Explanation : (2) The mini i
. 3 minister said, "Electi
will be held in MP, Bihar and Orissa". cenons

64. i

4 Wl.uch among the following suffixes in not
suitable for the re
(1) able

ot word 'prevent'?

(2) ing (3) ive (4) ious

66. Complete the following sentence with the
most suitable option:

I didn't know
(1) anybody
(3) nobody

in the party.
(2) somebody

(4) someone

Explanation : (1) anybody
> "l didn't know anybody in the party". AnybOd'y
means anyone, it is indefinite pronoun.
to refer an open, unlimited set of things P
and specific things or people.
Somebody : Some person, someone
Nobody : No person, no one

e0p®

Someone : Unknown or unspecified persob |
some person. %
: 0
67. Which of the following is not a homop”
pair?

(1) Kite-kit (2) Stare-stair
3) Principal-principle (4) Steal-steel




«w

E;‘planation : (1) Kite-kit
» Words that sound the same, but have different
meanings are called homophonic.

8. Which of the following words doesn't have
gilent letter in the pronunciation?
(1) Knock (2) Orange
(3) Honest (4) Debt

Explanation : (2) Orange
» The word 'orange' hasn't any silent letter in its
pronunciation.
But in the other given words—
Knock : Kis silent letter
Honest: H is silent letter
Debt : bissilent letter

Ateers oz 2018 @)

» Modal verb is a type of verb that is used to indicate
modality that is likelihood, ability, permission,
request, capacity, suggestion, order, obligation
and advice etc. e.g. can, could, may, might, must,
will, would, shall, should, ought to.

72. Which of the following sentences has a
possessive pronoun?

(1) Ramesh who is my gradson, is reading a
poem

(2) Her sister is known to me
(3) Ram is an intelligent boy

(4) Ours is a vast country

69. Which part of speech is word 'who' in the
follwing sentence?
"God helps those who help themselves".
(1) Adjective (2) Adverb
(3) Noun (4) Pronoun

Explanation : (4) In the sentence the word 'who' is
used as a pronoun (conjugative relative pronoun)
because it is performing two functions at a time
that is of a relative pronoun and of a conjunction.

70. Which part of speech is the word 'so' in the
following sentence?
"Shruti wanted to work so she went to her room."
(1) Preposition
(3) Verb

(2) Interjection

(4) Conjunction

Explanation : (4) Conjunction

» Here the word "so" is used as a conjunction
» "So" is a coordinating conjunction.

» A coordinating conjunction is a conjunction that
is placed between words, phrases, or clause of
equal rank.

‘7

They are most commonly used to join two

Explanation : (4) Ours is a vast country.

» In this sentence "ours" is a possessive pronoun.

» A possessive pronoun is a pronoun, which is used
to refer to the thing of a particular kind that
belongs to someone. e.g. mine, yours, hers, theirs,
ours etc.

73. Which of the folliwing sentences has a
collective noun?
(1) He has a lot of milk.
(2) Raka is a fool.
(3) Cattle are grazing in the field.

(4) The air is cool here.

Explanation : (3) Cattle are grazing in the field.
» Here, "cattle" is a collective noun

» Collective nouns refer to groups of people, animal,
or thing such as assembly, family, crew etc.

74. Identify the sentence in passive voice:
(1) They live in this city
(2) He will be taken care of
(3) He teaches Chemistry
(4) Ram is flying a kite

independent clauses.

71. Which of the following sentences has a
'modal verb"?
(1) Heis flying a kite
(2) His father knows me well
(3) Ram is an intelligent boy

(4) Her mother ought to know what she is doing
in Mumbai.

Explanation : (4) Her mother ought to know what
she is doing in Mumbai

Explanation : (2) He will be taken care of

> 'He will be taken care of is in the passive
voice because the structure of the sentence is
'object+helping verb+V3 + sub'-which is the
structure of passive voice of future indefinite
tense.

75. Identify the sentence in active voice:
(1) Their friends will be caught red handed
(2) Iknow nothing about Western philosophy
(3) French is not taught in my college
(4) He was knocked down by a car



kExﬁiﬁnation . (2) I know nothing about Western

ilosophy. e . )
>Pl;;::2 ?h: above written gentence is in active voice

because the sentence structure is as 'subject + V1
+eobject' which is of the active voice of present

indefinite tense.
76. Which of the following sentences in an
exclamatory one?
(1) You are really very kind.

(2) Sheisa small creature.

(3) He cannot speak well.
(4) How beautiful is the morning today!

Explanation : (4) 'How beautiful is the morning
today!'
» Here, "How beautiful" is the exclamatory

word used in the given sentence. So, this is an
exclamatory sentence.

» An exclamatory sentence, or exclamation, is a
more forceful version of a declarative sentence.
It also conveys excitement or emotion, and ends
with an exclamation mark (!).

77. Which of the following words has a silent
letter in it?

(1) Fawn (2) Cure (3) Calm (4) But

Explanation : (3) Calm
» The word 'calm' has the silent letter "1"

» Silent latter is the letter which is written in a
word but cannot be pronounced.

» e.g. knock, calm, honest etc.

78. Which of the following sentences has a
direct narration?

(1) My mother tells us that her uncle was a
salesman.

He said to me, "Do not cross the limit."

He has told me that his father was a police
officer.

@
©)
©)

Shyam said to me that he was not at ease
yesterday.

Explapation : (2) He said to me, "Do not cross the
limit",
> This sentence is i

n direct narration as it writt
1h en
In Inverted comm

as.

Explanation : (3) I admire his broad outlogl
» Here, 'broad' is the correct antonym f " |
because narrow' means of small width v rearr(-l"

to length and broad means having 5 o,
Jarger than usual from side to side; wige Mt

80. According to the NCF 2005, 1earning L
and __ in its character.

\
(2) passive, s0cia] 1

(1) active, social
(3) passive, simple

(4) active, simp]e
Explanation : (1) Active, social
» According to the NCF 2005,

learning jc . ..
. . . arnlng 18 aCthe
and simple in its character.

> Here, the word active means engaging or ool
to engage in physically energetic p“TSuiti
and 'social aspect of learning is as proceg |,
which individuals acquire the social abilitie
to accomplish goals and become responsibl,
citizens.

79. i i
9. Which of the following sentences has the
antonym of 'narrow'?

(1) Heisg good boy.

(2) Sheis utterly selfish

(3) I admire hig broad outlook

(4) Tknow him well enough ‘

S AP S e ———

81. What does motivation do in the procesg of
learning?
(1) It differentiates new learning from g

learning.

(2) It makes learners think undirectionally.
3)

4

It sharpens memroy of the learners.

It creates interest for learning among young
learners.

I Explanation : (4) It creates interest for learning
among young learners.
» Motivation means a reason or reasons for acting
or behaving in a particular way or a set of facts
and arguments used in support of a proposal.

82. Fill in the blank with appropriate
preposition:
Ashoka is worthy remembrance.
(1) with (2) at (3) for @of
Explanation: (4) of

> Ashoka is worthy of remembrance.
> The phrase 'be worthy of something' mgan:
to deserve to be thought about or treated 10

particular way. .

83. What is the subject of the foll
sentence?

oWin‘

No man can serve two masters.
(1)
(2
3)
4)

No man can

can serve two masters
Two masters

No man

Explanation : (4) No man

> Here, the subject 'No' man' is a noun.

|
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84.

i Nos. 84 and 85) Read t!le given
tl: l‘;Zr(ecfzully and answer the q{testtons. that
lecting the most appropriate option.

g these adventures, in the year 1887, was
a youth called Jacob who was then twenty one
years old, Although so young he had already
Jived a risky and dangerous life. He had begn a
seaman and crossed the Pacific, and been a pirate
and a river patrol-man, a coal shove_ller at a
power plant, a landless man and a 'hobo'. He had
tramped the United States and Canada, sw1§ch
rides on freight trains, and dodging and fighting
railway men and police and knew all about cold
and hunger, and poverty and danger, and he had
served a prison-sentence of thirty days.

Though he did little else, he had a great love for
books and words, and though he had found no gold
in the Klondike, these things were soon to earn
him a fortune. He came back from Alaska after a
year suffering from scurvy and without a penny
in his pocket. He had, however, a great wealth of
experience and he bagan to write stories about
places he had seen and the people he had met.
After months of hard work and hunger, he found
success. Magazines began to accept his Alaskan
stories. Soon, he was famous. In the next sixteen
years, he published fifty books, and made and
spent a million dollars. He died in 1916.

Amon

In the given passage, what dc¢ you
understand by the word 'Hobo'?

(1) A hero

(2) Someone who does not have a job or a house
and moves from one place to other

Someone who is brave

Someone who fights with everyone and does
not sit quietly ever

®3)
4

Explanation :
job or a house and moves from one place to other

» The word "hobo" means a homeless person; a

85

>

Explanation :

: Vitamin Cis found in citrus fruits and vegetables.

(2) Someone who does not have a

tramp or vagrant which is used for Jacob in the
given passage.

- 'Scurvy' means
(1) a disease resulting from a lack of vitamin C

() an injury caused to the body from freezing
cold

(3) asea-sickness
(4) afeeling of nausea

: (1) A disease resulting from a lack
of vitamin C

Scum means a condition caused by a severe lack
of vitamin 'C' in the diet.

"Seurvy" is used for Jacob in the passage as he

s daz 2018 )

86. Identify the wrong collective noun
(1) Army (2) Sheeps
(3) Scissors (4) Daughters-in-law

Explanation: (2) Sheeps
» Sheeps is not a collective noun because a group of

sheep is called a flock, herd or mob.

87. Identify the correct sentence among the
following:
(1) Please look at my certificates
(2) Please overlook at my certificates
(3) Please see my certificates
(4) Please see into my certificates

Explanation : (1) 'Please look at my certificates'
is the correct sentence because 'look at' means to
read or examine something in order to check it.

88. Complete the following sentence with the
most appropriate word:
Let us not confuse liberty ___ licence.

(1) with (2) from 3) for (4) than

Explanation: (1) with
» Liberty with means the state of being free within
society from oppressive restrictions imposed
by authority on one's way of life, behaviour, or
political views.

89. Which conjunction will be the most
appropriate to join the following sentence?

He lost the prize. He tried his best.
(1) as (2) because (3) though (4) for

Explanation: (3) Though
> He lost the prize though he tried his best.
'Though' means despite the fact that or but.

> e.g. They're coming next week, even though
you've been running a marathon.

90. Which part of the following sentence is
predicate:

On saturday morning my friends and I play
football in the park.

(1)
(2)
3)
4)

On saturday morning
Play football in the park
My friends and I

On saturday morning I play football in
the park

suffered from this when he was in Alaska.

Explanation : (3) 'Play football in the park' is the
predicate of the given sentence.

> Predicate means the part of sentence or clause

containing a verb and stating something about

the subject.
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T 2

> 3 g e wver § Wipfas fwans g g
B @ 2, AE A FEdn 21 S §-Wd,
R ert, Yo el sl

> fd o1 wmd gu 9@ &1 S @ S fagy wei I
T & W v W v fogd S Fed 2

T (2) T F HA SR A eHuM ¥ gemm
“ifees TR W w2 T
TRIATIER,
(D)

) o o

> 5oAM fhd ovg § %o &1 4 1 U H19 ¥ SoA9H
F1 AEE fhFamm T U B 1 FEEE, IR 9§ e
B B

117. Weh ST sRTeR Bl B

(1) 1077 9. &+ (2) 1078 9. &
3 10°¢ . = (4) 107° @M. =
HTET: (4) T A = 10-9 7 gt 2
Frfer e 1 TR o

> H® ygE TRE &1 e ¥ ufads fefafas gen
qT
1 faeft @t = 1072 #Hex
1 Higeht ®. = 1078 Hiex
1 deht | = 10712 Hiex

>ugmfg§qmt@aqﬁquiawa§aw%n

1 & W = 1071 e

118. 378 W Torms X-fenont &t anfaser faman?
(1) Ug=sH (2) Hegad
(3) THIE (4) =gt
e (1) x-fhwn, &1 sufaser W= 3 fHar an
X-forton =1 3Svam @ g wfeedl &1 o e ¥, s
F edvA NG o, o, 99 6 gagwia S |
oAl H S H, S ogeen # gfe 9 afq weeg 21
> Hogad 3 Yo o faga-gewg fagm @ WS
ot & o fereror &1 foram fan R
> TR A T &1 @S & 2

119. Frafafaa § ¥ F-T1 T TrEHfn 9T TE 22
1) fae=n 2) Ufwfas
(3) hreA (4)

= (2) fu T fawed ¥ @ uHfe T Wi W
& 2

> ufipfers 1 AR A e derdfhee § T
T G (C50,Hg) Bl &1

> ufpfad TF REH it ¢ fow S WO
I7Er faRan S 2

>faﬁ",ﬁzﬂ,3ﬁﬂ@ﬁ$ﬁﬁ*w%mmm
qHER @ W R S 2




D uerer man (6-8) arfdra/ Rrgmer duz-2

120, 3TATH WATATOT B
(1) g =
(3) @ ®

s (3) fau Mo fawedl # W o a9 w1 WA 2

> e @ AE W St g T 9@ @ faaRa qen s
1 3t gfg @ & T Fear 2

> B, 3T, WIS, TR SNfX H1 @ AF 9 2

> TR, VEWH, gL, qol omfk & @R Ay w9

(2) wHt @
(4) w& HI

124, Frorfafas & ¥ B T gy g

T 27
(1) BEIRRE (2) srefsfeg
(3) fped (4) &

STEAT: (4)mmﬁmﬁ@h@%—w%
& 2

> & fafeelt Ficw AR ST FFT E g
Hfergat & g Herar 2

> 31 @ gfaq sAfe & TR A S F FH @ e
T @ H9R o 8 S 2

> ¥ T Ao B g Zent TEET T T g 5
Iael FHT = AW

»m,aﬁmﬁﬁ,ﬁ@ah—mwi&\}

wig #l

121. QTEfa® FA IAT BT Bl
(1) domg 9 (2) Jget |
(3) 3USwT W (4) TRRA |

ST (3) A Bl SUeNg ¥ I9 B B

> we %1 Fmivr e ¥ g @1 e SR
& el wel Sl el
% & YHR B B 2l
1. 99 Ga/aAr«dfas wd A% ®d & a9 °H Had

125. frfafes wfadfas S e gl &
(1) w4 9
(2) V& 9

(3) Sftary @
(4) a-efa Jame 4@

2. 3P THel- 99 VSR & 3ifafad IoI & =1 91T
S IOITEE, RIS SAIE Bl I B 9 o €, al
U ol HT S T FET I | - H qfa |

122. UET Utgy, TS s st TU& ST & sy

HUSTYE B 9 o dl 39 T el Hed 21 - 3 /

s (1) WEE @ At gt @ e e 8 |

> B SEHINERIA Fak B ¢ S ga U w6 oEm
gl I R

> Uffafer @1 nfashr sTerasivey wfam 3 fdan o

> ffafer #1 @, g F el wdamfer || |
49 uF 2

JusE e 8, f
(1) ufvEan (2) wH
(3) = (4) uzfrn

|TET: (2) %4, U uE dur @ fomd dte #1 osrdan

126. Freafefiaa § ¥ -9 St &0 || 7@l 87
(1) 9= (2) @@
(3) faerfm (4) FrEEESS

T & W | gSEA B 2

> TF qedg qen @ s g9 @ vl A6 9 @
T T g e g B 7

> % H faue Fae W W S gl ud e et
F1 GAEH HQ B

> ®1 1 I AISH, a1, Sg I, GEe drei ®
®9 F frar wrar 2

123, Oell ¥ W dyermor & fow srfrard aw &
1) =R (2) TrEsH
(3) fiferm (4) <

= (2) ftu T fewedt ¥ @ Ame dei A |
WEH-HYe % fou s @ 2
> W TR aen ¥ W # e
;“*gﬁmwmméﬁmﬁmm
|
> TR T A e o ww o e @
Wﬁ%mﬁ@mén

=T (3) faafa st &1 |9 T 2

> foerfa ww wEfe ggef g & fomet gar W ¥
NEYTHA FH T T B 2

> faerfm =t @9 W% 3 F1 o)

> foca@ & MR W foarfim & @ wmi § fawtsa
foa em
() & H yeeia faafs - B sk C
(i) =91 7 yoeie foerfim - A, D, E @ K

> faafm =1 & 9 e ae I fsfafad 21

faetftm FH W E AT
A et
B, R
C @l
D Rehem wa siifeegmafir
E S vifed w1 &ftor g
K @ #1 ¥ (Bloo

d clothing)

EECEEL

e




127. DNA & WRIfST Tz & et wmer §1
1) ==H @) T=H[
(3) #rEH (4) T

@ (3) DNA & Hifen @z = #ref #a1 9 21
DNA # Fffferiere o) d9-d @ e § sufem
2@ & S (AAA, ATA, AUG) # &9 ¥ g &1 3 fafa=
YR F Al Il w HEEH R
5 FH fFTieES # wet ¥ s wie @ a §

ﬂm@ﬁﬁl

198, Frefarfad & & ®F-T1 Tk e dive a T 87

(1) wifeam (2) ®w

3) fafasw (4) Sfcerm

s (3) &y T fowen § ¥ fofer ©r gew dvw
Ta T R
> Tl % Ik U9 § %Y wen § U S At 9elt
e U qd Hed 2|
> Wifequ, W, wfevmm gan wwsw a@i # gof o
A B
129. AfE Tk =9 T Y ST bl SHT T faam
WU, 99 9% WU S & &A%l o faad
wfaw =t gfeg grit?

(1) 200% (2) 300%

(3) 150% (4) 600%

ST (2) 9E1 ¥4 &1 957 = !
¥ 1 T S I ETEA = 6a”

¥d W9 H T g = 2a

& T WU g% H A = 6(2a)” = 24a”

2 » 2
.~.awmm=2ﬁ4f“x

al
= % x 100% = 300%

100

L
b ¢ a+b+2c
130. afg 2-2_C g, @ |
3 2 1-5>r b %
(1) 3.8 Q) 4 (3) 3.5 4) 5
@M @ (3) TA, < = b_c_y
3 2 1
a, a=3k b=2kc=Fk
...a+b+2c:3k+2k+2k=z_lg
b 2k 2k
L =35

131, KT g WM 9q shrra faaes ferg aviienon
x- Ky =2, 3x + 2y =-5 T Afgdd &1 &N

9 _2

(1) K:t? 2 K= 3
=3 _ =B

(3) K;:? 4) K——3

s duz 2018 P
=reE (1) fa 2, x— Ky=2
x—-Ky-2=0
a,=1,b,=—K,c, =-2
aiﬁ'{, 3x+2y =-5
3x+2y+5=0
. Gy =3,b,=2,¢,=5
a, b
fgedta & & fam, Ltz -
a, b,
1 -K
__i—.
3 2
-2
K+ —
- 3

132. A Teet @m @t 6 fa ® wa 1 B 3H FW
w8 fa ¥ qu & 1 C I W W g
FA W IA wHT o & e e A A eiw
B fhetet ™ ot 9 W §1 B 3R C faeat

3t & & fwen fo7 ¥ g s
1) 1%&? 2) 4 f&A
3) 5 4) 2%?«

L]

Err@T:(4)A?ﬂ1ﬁ={TﬂEmﬁ=6

B?ﬂlﬁﬁmm=%

SCH 1w eEd =A 3R B &1 1 &7 &1 &6
:_+_:4_—’—3:7
6 8 24 24

B 3R C &1 1 &3 &1 &1

L. T _ B4+7
8 24 24
_10 5
24 12
B @R C g0 %@ QU %W o wny
:E:gzﬁ:{
5 5

133. Weh UET U Ueh hall & 30 BT & gRT UIe
3Rl T WIEA 58.5 ATl 1€ W, I A9 g3 &
FfcaW TH BT H Wik 75 & H W 57
aifera &Y T °n wEt "rew {a st
(1) 51.9 @) 59.1
(3) 20.9 (4) 28.9

TEAT: (2) 30 BN gR WK 37! H1 HKA AT
= 58.5 x 30 = 1755
it ey = 1785+(75-57)
30
_ 1755+18 _ 1773
T3 30

=59.1
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134, afy fagal (3,5) T (6,5) TH (-3,4) T HA 136, U sraardt o STt AVe gy o

(x,y) B, @ x TE y 1 AH A4 HA)

9 —2 =7
(1) x=2ay=§ (2) x_z’y 3
(3 x=2,y=3 (4) x=3,y=2
= x tx,tx,
e (1) 38R, X = ——‘,;——
-3+6-3 _6_,
= 3 3
4 y:y1+y2+ya
' 3
= 3y=56+y+4
= 3y-y=9
=5 2y=9
9
= y=Z
2
, =|2,—
3 (x, ) [2]

135. SEUE 9x° + bx® +x - 6 I Teh TUITEUL (x + 2)
£ 3t 9@ 3@ agug W (x-2) W 9 A F,
a1 VNG 4 WTA BT €1 o 317 b 1 WA A

EAE
(1) a=2,5=0 @ a=1,b=1
3) a=0,b=2 (4) a=7,b=5
| (3) W9 F, (x + 2), TEIZ axd + bx2 + x —6 zm]‘
T PHETE 2, ’
a4, x+2 =0 ;
x= -2 ‘
fly=10
f=2)=0
=a(-2°%+ b(27?-2-6=0
= ~8a+4b-8= 0
= 8a—-4b= -8
= 2a—-b= -2 (1)

CHER ax’ + b2 +x— 6F (x—2) F faufem F
T '4' I9FA F94qT1 2

ad, x-2=0
x= 2

fly=0

f@=0

=a2’+b©2)2+2-6 =4

= 8a+4b+2-6 — 4=90

= 8a+4b-8= (

= 8a+4b= 8

= 20+b=2 ...(ii)

FHIFTT (i) N (ii) B,

a=0 3R p=2

(2) %GR gy

(1) v# Joiw \
(4) UF AW tiny,

(3) v# ufrdg
[f - (3;) @:. gAaar o AEd Zomem q‘n;;,",,’
ufrig wem 7 2
$-n vE e o He )
8142857142857,

1]

m

3.142857

137.ﬁqan‘rzarﬁ,mnqﬂ?ﬁmhm-,ﬁ7m
oot Y &1 afz pr=5 A AT pa=,
&1, 91 AB &t AT &I ATA wifAT

I

"

- 1
(1) ]%W (2)

(3) 15 @A (4)

]Vraar@r: (1) 77, Pt =5 941 47 PA =3 @4l
1

r
; TAET, PT?= PAxPB
‘ (5)?= 3 x (PA + AB)

25 _ 34 4B ;

3
AB= 2_5._3: —_25~9= lﬁﬂtﬁ
3 3 3

138, WU wq¥A ABCD & fammui AC 3T BD
TH-gH H fag 0 W yfesfaa wwa 1 7R
ZDAC = 32° 3T LAOB = 70° &, &1 /DBC

FET -
(1) 88° (2) 38° (3) 24° (4)32°
e
AT : (2) ADAC = AACB = 32° {
r’
|
B
B
i
|
) (|
ZAOB + /COB = 180° |

70° + ZCOB = 180° |




- £COB =180° — 70° =110°

ABOCH,

JCOB + ZOBC + ZBCO =180°
110° + ZOBC + 32° =180°

Atears daz 2018 )

142. fora™ wwa ¥ 8% anfier =T &t 37 | QIEWOT
A, TS % B

(1)7 a4 @) 5 d 3) 8 a4 (4) 6 ad
ATEAT: (2) HAT HoAauq =
GE| FTIHT(UTW=?2%
T = 8% At
HHUIOT =A1§ X 100
g = e
2x
_ 45—X100:4_0=5a1§
x X8 8
143. 9% BA-U-9Et gEm, fFaa 33275 &0 o
FA W YT UEEA T gt 99 &, F
(1) 3 @ 5 (3) 2 4) 6
M@ (2) 33275 =5 %5 x 11 x 11 x11
TET 5 Had a2l
*. et HEem =5

144. afg (p®-8p +12) T (p* - 4p -12) T WEH
HUUET® (p - a) &, T o HT A T

/0OBC =180°—142° = 38°
/0BC = /DBC = 38°
130, AfE @™ = (a™)" B, W m & WA R
1
1 — 2) n"
n—1 .
@) n-1 4) n®
=@ (4) a™ = (am)n
WHW}W, mt=mxn
1 !
= m » = (mxn)"
1 1
= m = mrxn" [ (axb)"=a"xb™)
m 2 [ a” _
= —1: nn - :am n
= Qa
mrl
L 1
= m " = n"
n-1 _1_
= mn"™ = nt
nl n 1.n
= mn n-1 — nn n-1
m= n(nl—l)
1 1 1
P | TS| | ... ——
140. [ 5][ 6][ 7] ..... [1 100] Ealk:iE iy
1 1
1) — 2) — 3) 0 4) —
(1) (2) 50 (3) 4) 100
s (1) [1-+ —3[1—1] ..... [1 ]
5 6 7 100
4,56 9 _4 1
5 6 7100 100 25

141, Afg 0<x<1, B, M 9% TA ¢ T&
(1) xlOO > xl()l (2) xlOO >1
(3) xlOO < x101 (4) x100 >1

1) -6 2) 2 3) -2 4) 6
e o (2) p—-a=0
= p=a
T 9gIE H 'p' H HA WH W,
a*-8a+12=0
= a’*-6a—-2a+12=0
= al@a-6)-2(a-6)=
= (@a-2) (a-6)=
a=2,6
q1: a®+4a-12=0
=  ad*+6a-2a-12=0
= al@+6)—2(a+6)=0
=% @-2)(a+6)=0
a=2,-6
3Ad: a=2

e (1) @ ®, 0<x<1
szé,mﬁw Q) @

& -G

101

1 1
200 > ST
2101

P >1=>2>1

aa: fasew (1) & R ™ wmw v R

145. SEUE x° - 6x% + 11x - 6 T TUIEUS §l
(1) +1)(x+2)(x-3)
(2) x-1)(x+2)(x-3)
@) (x-1)(x-2)(x-3)
4) @-1)(x-2)(x+3)

ST (3) 9l x = 1 T8 9gR
P62+ 11lx-6¥ WA I,

= (1)*-6(1)%2+11x1-6=0
= 1-6+11-6=0
- 12-12=0




@ uprer e (6-8) AT R Taz-2

A x—1) x* — 627 +11x —6(x* — 5x + 6
o, 32
x°—x
- 4+
—5x% + 11x
—5x® + bx
+ -
6x — 6
6x — 6
- 4+
X

5o(x=1) (o + 5x +6)
= (x—1) (x> - 3x - 2x + 6)
= @x-1x(x-3)-2(x-3)
= (x—-1)(x—2) (x—3)

146, wefteRur, fawa g aﬁr—ﬁ—fz £,
M
1) @*+g*)x*+8pgx-2(p+q*=0
@) p*g’x*+pgx+2(p+q°=0

(3) P*-g)x*+4pqx—p*+q° =0

b—q

p+q

2
(4) p x2+£x+(p+q)2:0
q

'

wre : (3) fa ¥, o= 24 ain
pP+q
__DPtg
S
x2—(a+[3)x+a[3=0
i xz_[p—q_p+q . +[P4 [_p+q] i
p+q p-gq p+a)l p-gq
= xz_[(p—q)z—(p+q)2]x_1=0
(p+q)p—q)
= 2| 2Ly 1=
P’ -q’

L ®*- ") 2+ 4pgx - p* + ¢* = 0

147. U Wit whew ¥ 16 et @ wfora ¥
T 0, 0,2,2,3,3,38,4,5,5,5,5,6,6,7,8 &,
A sEe g
1) 5
(3) 3

@ 6
) 7

amem: (1) fm = A TOE wEfer
Fged &
fzu,mz,a:h;‘f0,0,2,2,3,3,3,4,5,5,5,5,6,67

& fau,
. gyifie aged =5 (AW AW HAUF Ty
148, Afy 321 3% =37 - 3% T, mmx
(1) 1,-2 (2) -1,-2
) 0,-1 (4) 2,-1
oTEm: (4) 3% —3x=3x+3-3° )
= 3% 3 _3x= 3x.3% - 3?
= 3(3%2% - 3* = 27(39-9
il 3=y -u(i)T
3y’—y = 27y-9 Il
= 3y’ —y-27y+9=0 i;
= yBy-1)-9@y-1)=0
= By-1) y-9=0
afg, 3y-1=0
!
= y= 5
3, y-9=0=y=9
TUET (i) H, 3% = _:13_
— 3= gl
= x= -1
#i, 3= 9
= ¥ = 32
= x= 2
Ad: x= 2,—-1 )J

149. Tk ifarad § 53 thaaw g @t ke €

2 3 1 4
0 = @ - ® - @3

SR (1) T =4 % foru 2, faum o7 Hmaw - g,
HMEAGR - guaR, qYar - Tean, TEaR - T l
YFHIR - UFER, WFER - R, e - wea |
Thd 2l
#d: H FEEAN = 7
FYAHER Feifead qeqraTd

= (V@R - foER, doEr - gmEr) =2

- i yifyerar = 2

150, i frt g dr A 12 ARt AT G W

Srar @t wwarg 10 Wt g, A g9 o AW
(1) 26 ¥ 2) 14 Tt
(3) 13 ¥t (4) 30 At



ZTET ¢ ) fe= ®,

AMOC ¥, TEYIRY Y99 4,

3d: 90 ® =M =2 x e

Hteas tuz 2018 @)

0OC = 12 |t
AB = 10 9t

A40= JoC* + AC?
= J(12)* +(5)°
= 144 +25
= V169 = 13 94 = ==

= 2% 18 =26 §Hl

Key Point—

et

» SIEIERAT HT 3 AT W sier S 8- |
1. URPTE STeIERAT— 2 § 6 9Y q%| T S w5
“faiT eg” (Toy Age) “f ®ed 2|
2, W ACAEAT— 6 ¥ 12 99 dh| 3T 3Ta% &l
“fiRrE 3t (Gang Age) el Sl 2
> 9§ 9EAF (Quantative) dUT fasm@ AETHE UH
T (Quantative and Qualitative) gral 2
> WIEd % STTER “Ieid U SAfaRfaa wen € S feree
w1 Welt A 3@-T@ H A ARE EH S ITER
fasfaa & 21"
> WHY  (Counselling) TH or=: fwarms wiwan

> Hierl fen smam & oER, “fdvm e wmy W
forem &1 aMEvgE M W 3 =fRU SR fotel &
=1fet fF 3 &% B Hi AT GHEA & gHYE §
o frdem wd wmet 1 € aifF 3= TeEeH-dadh
frdt YR+ FE Hies =1 &”

> 9 ® fosen wifdefas @ @ 3® & o
rifqRIfas 39 F1e 1 Fal A1 & Toda &2 fafea
U T 2 uifaeitas @ | famer et § @t
St e

> geA-f1ev (Micro Teaching) T =afdrTd wfvmamn
fafy 21 M. TeE 3 14 a0 NCERT # 7 foieror sivret
@ 2

> JAEAT (Viscosity) : 59 & Tfd § I ATaRe =607
1 A Fed ¢l 9 g9 eyl Tl B qen 9% T
T %o gy e 8

> 91d (Metals) STH ¥ ¥FRA s9H 9l a2l T8
TRl g STreSIEd HATEAl 1 U wdfed 2

> 9l % agEved H S0, 3R NO, 9@ & 4@y
Afaferar Fieh TEfew 3rl IR T w1 deE S ©
59 el oW (Acid rain) %84 2

» daw fae@m (Saturated solution): f&dl fAfy=m
T R I 98 faeEa foad faerm wered # Amn ik
Atk 1 elg S Ueh 39 Hqw faerem wed ¢ IR’
TR F9% (NaCl) 1 Fqa faeaq 21

> SIS (0,), SFdSH o fF WA ¥ et o

e T8 ¥, fEet 7 agHved ¥ 0.02% 2

» HaT (Momentum) : fed nfwfter five & s=mm
R 97 % UAGS H 39 o H FaT FBd o

'H'TSPT(p):va
o HT °AEE kg.m/s (fan #/8) 2

% Al ¥ g AR ¥ gEiia T e €, 39 aw
# REr w TR-Hart A wed &1 SH- AyweE,
I=d T °Y, Y& 1 hE, WA h1 HE, THYE &
He &1 Hel
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